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¢ Answer the following questions (MCQ) : (1x15)
Questionl

Q. A neutralization reaction will (almost) always produce...
answer choices

water & salt

water

salt

water & carbon

Answer water & salt

Question 2
Q.
A type of chemical that forms solutions that taste sour, due to high
concentrations of positive hydrogen ions

answer choices

acid

base

salt

pH

Answer acid

Question 3

Q.

What is considered to be in the middle of the pH scale
answer choices

acidic

neutral

basic

indicator

Answer neutral

Question 4



Q. If there is excess hydrogen ions, the solution will be...
answer choices

acidic

basic

Answer acidic

Question 5

Q. If there is excess hydroxide ions, the solution will be...
answer choices

acidic

basic

Answer basic

Question 6

Q. Identify the salt in the following equation:
Zn(OH)2 + HN03 -—-> HZO + Zn(NO3)2
answer choices

Zn(OH),

HNO;

H,O

Zn(NOs3),

Answer HNO3

Question 7

Q. NaClisa...
answer choices
acid

base

salt

water

Answer salt

Question 8

Q.Ina___ reaction, an acid and a base produce a salt and a water.
answer choices

concentrated

decomposition

dilute

neutralization

Answer neutralization

Question 9

Q.



Complete the following reaction:
HCI + Mg(OH), -->

answer choices

MgC|2 + Hzo

Mg +H,0

MgCl, + H,

MgCl, + H,O + CO,

Answer MgCIZ + HZO

Question 10

Q.

Complete the following reaction:
H;PO, + NaOH -->

answer choices

Na3PO4 + Hzo

Na +H20

Nas;PO, + H,

Nas;PO, + H,0O + CO,

Answer Na3PO4 + HZO

Question 11

Q.

Complete the following reaction:
HNO; + Ca(OH), -->

answer choices

Ca(NO,), + H,0O

Ca +H,O

Ca(NO3), + H,

Ca(NO3), + H,O + CO,

Answer Ca(NOS)?_ + HZO
Question 12

Q

A type of chemical that forms solutions that taste sour, due to high
concentrations of positive hydrogen ions

answer choices

acid

base

salt



pH
Answer acid

Question 13

Q. Identify the salt in the following equation:
Zn(OH)2 + HNO3; --->H,O + Zn(N03)2
answer choices

Zn(OH),

HNO;

H,O

Zn(NO3),

Answer Zn(NOS)Z

Question 14

Q. What are the products to a neutralization reaction?
answer choices

H, + lonic Salt

H,O + lonic Salt

H;O™ + lonic Salt

OH" + lonic Salt

Answer H,O + lonic Salt

Question 15

Q.

Complete the following reaction:
HCI + Mg(OH), -->

answer choices

MgCl, + H,O

Mg +H,0

MgCl, + H,

MgC|2 + H,O + CO,

Answer Mg +H20
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